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We’ll assume the council employs majority rule to make its group decisions. In this particu-

lar example, this means that any policy that enjoys the support of two or more councillors will 

be adopted. How should the councillors vote, though? It’s not obvious given that there are more 

than two alternatives. One way they might proceed is to hold a round-robin tournament that 

pits each alternative against every other alternative in a set of “pair-wise votes”—I versus D, I 
versus C, and C versus D. The alternative that wins the most contests would be designated the 

winner. If we assume the councillors all vote for their most preferred alternative in each pair-

wise contest (or round), we see that D defeats I, I defeats C, and C defeats D. The outcomes of 

these pair-wise contests and the majorities that produce them are summarized in Table 10.2. 

Notice there’s no alternative that wins most often—each alternative wins exactly one pair-wise 

contest. This multiplicity of “winners” doesn’t provide the council with a clear policy direction. 

The council fails to reach a decision on whether to increase, decrease, or maintain current levels 

of social service provision.

This simple example produces several interesting results that we now examine in more 

detail. The first is that a group of three rational actors (the councillors) make up a group (the 

council) that appears incapable of making a rational decision. What do we mean by “rational?” 

When political scientists use the word “rational,” they have a very specific meaning in mind. An 

actor is said to be rational if they possess a complete and transitive preference ordering over a set 

of outcomes. An actor has a complete preference ordering if they can compare each pair of ele-

ments (call them x and y) in a set of feasible outcomes in one of the following ways—either the 

actor prefers x to y, they prefer y to x, or they’re indifferent between x and y. The assumption of 

completeness essentially states that an individual can always determine whether they prefer one 

option or are indifferent when presented with a pair of options. An actor has a transitive prefer-

ence ordering if for any x, y, and z in the set of outcomes, it’s the case that if x is preferred to y, 
and y is preferred to z, it must be the case that x is preferred to z. To put this in context, suppose 

you’re confronted with three ice cream flavors: vanilla, chocolate, and strawberry. If you prefer 

vanilla to chocolate, and chocolate to strawberry, then if you have transitive preferences, you’ll 

also prefer vanilla to strawberry. If it turns out that you prefer strawberry to vanilla, then you 

don’t have transitive preferences. Actors whose preference orderings are either not complete or 

not transitive are said to be irrational.

In our example, each of the councillors is rational because each has a complete and transi-

tive preference ordering over the three policy alternatives. For example, the left-wing councillor 

prefers I to C and C to D and also prefers I to D. The outcome of the round-robin tournament, 

however, reveals that this set of rational individuals becomes a group that acts like an individual 

with intransitive preferences. Recall that the group prefers D to I and I to C. Transitivity would 

Round Contest Winner Majority that produced victory

1 Increase vs. decrease D Centrist and right

2 Current vs. increase I Left and right

3 Current vs. decrease C Left and centrist

TABLE 10.2 ■    Outcomes from the Round-Robin Tournament




